d-v-t/work (HKMO Classified Questions by topics)
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As shown a rabbit spends 30 minutes in B
travelling from 4 to B along half circle.
With the same speed, it spends d minutes

in travelling from 4 — B — D along half
circles. What is the value of d?
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If 10 men can do a job in 6 days and 4 men can do the same job in ¢ days,

find the value of ¢ .
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A wheel of a truck travelling at 60 km/h makes 4 revolutions per second. If its
diameter is GL m, find the value of y.
T

1985 FG7.3

- A 4km/hz i FHF 10km o £ 2 6 km/h 2 :# &
oz T g F L xkm/h o fx ehiE o

A man travels 10 km at a speed of 4 km/h and another 10 km at a speed of 6 km/h.

If the average speed of the whole journey is x km/h, find the value of x .
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A boy walks from home to school at a speed of 4 km/h and returns home along
the same route at a speed of 3 km/h. If the average speed for the double journey

7 10km e £ 2>

FA4km/hd pHF+E > TR R KK

%%?6ﬁiiﬁﬁ$§ghmmuﬁqﬁ@o
q

B i 3km/h W 7

is %km/h, find the value of ¢ .
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A, B are two towns 48 km apart. Peter cycles at a speed of 7 km/h from A4 to B and
at the same time John cycles from B to 4 at a speed of 5 km/h.
If they meet after p hours, find the value of p.
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A man travels from X to Y at a uniform speed of 6 km/h and returns at a uniform
speed of 12 km/h. If his average speed is ¢ km/h, find the value of c.
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A can do a job in 6 days, B can do the same job in 12 days.
If they work together, they can finish the job in m days. Find the value of m .
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A man cycles from P to Q with a uniform speed of 15 km/h and then back from Q to
P with a uniform speed of 10 km/h. Find the average speed for the whole journey.
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A man drives at 25 km/h for 3 hours and then at 50 km/h for 2 hours.
His average speed for the whole journey is ¥ km/h. Find the value of .
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If 10 men can make 20 tables in 5 days,
how many days are required to make 60 tables by 15 men?
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A man drives a car at 30 km/h for 3 hours and then 40 km/h for 2 hours. If his
average speed for the whole journey is d km/h, find the value of d .
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A boy walks from home to school at a speed of 2 metres per second and runs back

. . . a2
at x metres per second. His average speed for the whole journey is 25 metres

per second. Find the value of x .
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5 printing machines can print 5 books in 5 days. If n printing machines are
required in order to have 100 books printed in 100 days, find the value of 7.
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Acar Pis 1042 km north of another car Q. The two cars start to move at the
same time with P moving south-east at 4 km/h and Q moving north-east at 3 km/h.
Find their smallest distance of separation in km.
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Two cyclists, initially 50 km apart travelling towards each other with speeds
40 km/h and 60 km/h respectively. A fly flies back and forth between their noses
at 100 km/h.
If the fly flied ¢ km before crushed between the cyclists, find the value of c¢.
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In a race of 2000 m, 4 finishes 200 m ahead of B and 290 m ahead of C. If B and
C continue to run at their previous average speeds, then B will finish x metres
ahead of C . Find the value of x.
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A can finish a job in 3 days, B can finish a job in 6 days. If they worked together,
they can finish the job in z days, find the value of =z .
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A car has already travelled 40% of its journey at an average speed of 80 km/h.

In order to make the average speed of the whole journey become 100 km/h, the
speed of the car is adjusted to d km/h to complete the rest of the journey.

Find the value of d.
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Pipe A alone takes 20 hours to fill a tank and pipe B takes 5 hours to fill the same
tank alone.

If pipes 4 and B together take x hours to fill the tank, find the value of x .
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Two persons 4, B can complete a task in 30 days when they work together. If they
work together for 6 days and then A4 quits, B needs 40 days more in order to
complete the task.

If the proportion of the task A can finish each day is 1 , find the value of ¢ .
q
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The time on the clock face is now one o’clock. After p minutes, the minute hand
overlaps with the hour hand, find the minimum value of p.
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A and B ran around a circular path with constant speeds. They started from the
same place and at the same time in opposite directions. After their first meeting,
B took 1 minute to go back to the starting place. If 4 and B need 6 minutes and ¢
minutes respectively to complete one round of the path, find the value of ¢ .
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Workman A needs 90 days to finish a task independently while workman B needs
Q days for the same task. If they only need 40 days to finish the task when working
together, find the value of Q.
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Two students run in opposite directions from a starting point
of a 1-km circular track at speeds of 10 km/h and 6 km/h,
respectively. They stop running when they meet each other at
the starting point again.

If a is number of times they cross each other after they start
and before they stop, determine the value of a.
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The building of a reservoir takes d technicians, or alternatively y labours to
complete in a month, where d + y = 15936. If d labours are employed to build the
same reservoir, the time taken is 4 times as much as the time taken when y
technicians are employed. Determine the value of d.
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To make a specific toy, it must be first moulded and then painted. Mr. A can mould
3 pieces of toys or paint 15 pieces of toys in one day, whereas Mr. B can mould 5
pieces or paint 15 pieces of toys in one day. Each of them can either mould or
paint toys in one day, but not both. If Mr. A and Mr. B work together, determine
the least number of days P to make 120 toys.
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Answers
1985 FG7.3
1983 FI3.4 1984 FG6.2 1985 FG6.2 24 1986 F14.4
30 15 25 — 7
5
1986 FI5.3 1987 FI3.3 1988 FI3.3 1989 HI5 1989 FG6.3
4 8 4 12 km/h 35
1990 HI15 1990 FI1.4 1991 HI5 1991 FG7.1 1993 HG1
10 34 4 5 2 km
1993 FI3.3 1994 HG3 1995 FI2.4 1995 FI3 4 1997 HG6
50 100 2 120 4
2001 HG1
2001 HIS8 60 2001 FG4.3 2002 FI1.2 2017 FI2.1
75 11 3 72 8
2017 F12.4 2017 FG4.1
5312 18
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